Wilson expected observed expected observed
coefficient linear linear linear+quadratic linear+quadratic
/a2 | [-0.003,0.003] | [-0.003,0.002] | [—0.003,0.003] | [—0.003,0.003]
cp/AZ | [~0.005,0.004] | [—0.009,0.001] | [—0.005,0.004] | [—0.008,0.001]
cua/A2 | [~0.006,0.006] | [—0.004,0.008] | [—0.006,0.006] | [—0.004,0.008]

/a2 | [~0.007,0.007] | [—0.008,0.005] | [—0.005,0.014] | [—0.007,0.008]
cuu /AZ | [-0.008,0.008] | [—0.010,0.005] | [—0.006,0.012] | [—0.008,0.007]
cwp/A2 | [~0.007,0.008] | [—0.004,0.012] | [—0.008,0.008] | [—0.004,0.011]
/A2 | [-0.009,0.009] | [—0.006,0.012] | [—0.009,0.009] | [—0.006,0.012]

/A2 | [~0.009,0.009] | [-0.010,0.008] | [—0.008,0.010] | [—0.010,0.009]
cHe JAZ | [-0.013,0.013] | [—0.023,0.003] | [—0.013,0.013] | [—0.023,0.003]
3 /A2 | [-0.014,0014] | [—0.015,0.013] | [—0.014,0.014] | [—0.015,0.013]
cw /A2 | [~0.015,0.013] | [—0.026,0.003] | [—0.014,0.014] | [—0.024,0.003]
cH3 /A | [=0.015,0.015] | [—0.019,0.012] | [-0.015,0.015] | [—0.019,0.012]
B /A2 | [~0.022,0022] | [—0.029,0.016] | [—0.019,0.033] | [—0.024,0.020]

o /A% | [-0.031,0.031] | [-0.027,0.036] | [—0.031,0.031] | [—0.027,0.036]

cM/A2 | [-0.032,0082] | [—0.031,0.032] | [—0.054,0.022] | [—0.070,0.021]
cqu /A2 | [-0.036,0.036] | [~0.054,0.018] | [—0.031,0.044] | [—0.045,0.020]
cap/A2 | [~0.037,0.037] | [—0.085,—0.011] | [—0.037,0.037] | [—0.086, —0.012)]
con/A2 | [~0.040,0.040] | [-0.038,0.042] | [-0.040,0.040] | [-0.038,0.042]
cho/A2 | [~0.040,0.040] | [-0.038,0.042] | [-0.040,0.040] | [-0.038,0.042]
Re(cpp;) /A% | [—0.045,0.050] | [—0.009,0.090] | [—0.051,0.046] | [—0.009,0.077]
¢®/A2 | [~0.049,0.049] | [—0.052,0.046] | [—0.041,0.075] | [—0.045,0.16]
¥ /A2 | [-0059,0059] | [-0.11,0012] | [—0.018,0.025] | [—0.022,0.025]
Cra /A% | [—0.081,0.080] | [—0.095,0.066] | [—0.081,0.080] | [—0.095,0.065]
Re(cyg)/A2 | [~0.089,0.080] | [—0.16,0.016] | [—0.085,0.084] | [—0.15,0.016]
/A2 | [-0.086,0.086] | [—0.057,0.12] | [—0.038,0.056] | [—0.031,0.065]
/A% | [-0.089,0.089] | [-0.11,0.073] [—0.066,0.14] [—0.080,0.17]
s/ A2 [—0.13,0.13] [—0.15,0.11] [—0.13,0.12] [—0.14,0.10]
co /A2 [—0.14,0.14] [—0.14,0.13] [~0.017,0.015] | [—0.016,0.014]
e /A [—0.15,0.15] | [—0.23,0.076] [—0.30,0.12] [—0.26, 0.066]
Re(coy)/A2 | [-0.17,0.15] | [~0.30,0.031] [—0.16,0.16] [—0.26,0.034]
Cra/ A2 [—0.16,0.16] [—0.14,0.17] [—0.15,0.16] [—0.14,0.17]
Cyy / N2 [~0.16,0.15] | [-0.30,0.015] | [—0.061,0.061] | [—0.065,0.037]
Re(ctG) /A | [-0.17,0.16] | [-0.27,0.070] [—0.15,0.18] [—0.19,0.074]
8/A2 | [-020,020] | [—0.31,0.084] [—0.35,0.14] [—0.29,0.075]
cd% /A2 [—0.20,0.20] [—0.14,0.26] [—0.10,0.16] [—0.081,0.18]
i /A [—0.22,0.22] [—0.33,0.12] [—0.22,0.24] [—0.31,0.13]
cm )/ A2 [—0.27,0.27] [—0.39,0.15] [—0.40,0.18] [—0.34,0.11]
) /A [—0.30,0.30] [—0.44,0.15] [—0.42,0.19] [—0.34,0.12]

SV /N> | [-0.35,0.35) [—0.54,0.15] [—0.10,0.084] | [—0.062,0.049]

gS/A2 [—0.47,0.47] [—0.67,0.28] [—0.51,0.26] [—0.41,0.18]

(8) ) /A2 [-0.52,052] | [-0.76,0.28] [—0.53,0.28] [—0.42,0.19]

/A2 [—0.65, 0.65] [—0.99,0.32] [—0.10,0.090] | [—0.078,0.066]

(3 2 /A% | [-0.76,0.76] [—1.1,0.42] [—0.24,0.20] [—0.14,0.12]

(?C’I) /A2 [—0.81,097] | [-1.5,—0.034] [—0.32,0.26] [—0.26,0.16]

cS) /A2 [—1.2,1.2] [—1.9,0.62] [—0.14,0.13] [—0.10,0.093]
cyn/ A2 [—1.3,1.4] [—0.085,2.7] [—1.3,1.3] [—0.086,2.5]

/A2 [—1.5,1.5] [—0.89,2.1] [—0.15,0.17] [—0.11,0.13]

/A2 [~1.7,1.7] [—1.8,1.7] [—0.060,0.059] | [—0.069,0.067]

?1 /A2 [—1.8,1.8] [—2.9,0.72] [—0.040,0.040] | [—0.048,0.047]
c?}l /A2 [—2.1,2.1] [—3.0,1.1] [—0.12,0.11] [—0.091,0.086]

Re(cyy) /A2 | [-22,2.0] [—3.8,0.56] [—2.2,2.0] [—3.8,0.54]

(1 VA2 [—3.9,3.0] [—3.8,4.0] [—0.10,0.10] [—0.075,0.075]
cHt /A2 [—3.1,4.0] [—3.8,3.6] [—3.8,3.4] [—4.9,3.1]
cop/ N [—4.0,4.0] [—6.1,1.9] [—0.18,0.17] [—0.14,0.13]

Cre/ A2 [—5.4,3.9] [—7.8,2.7] [—1.0,1.1] [—1.3,1.4]
cll /A2 [—4.8,4.6] [—5.3,4.8] [—0.54,0.56] [—0.36,0.36]
o) /A [—5.6,6.7] [—6.9,5.6] [—2.1,1.7] [—2.0,1.6]
el /A2 [~7.2,5.9] [—6.3,7.2] [—1.9,2.3] [—1.8,2.3]

Cru /A2 [~7.0,6.2] [0.76,12] [—0.60,0.65] [—0.37,0.44]
col/ A2 [—6.6,9.1] [—4.5,13] [—1.9,1.7] [—2.4,2.2]

Cor/ A2 [—9.5,7.9] [~7.7,9.8] [—2.0,2.4] [—1.9,2.4]

oL/ N2 [—18,13] [—28,8.4] [—3.9,4.6] [~5.2,5.8]
cgt) /A2 [—19,14] [—29,8.4] [—3.4,4.0] [—4.4,4.9]

/A [—20,17] [—19,19] [—2.1,2.2] [2.0,2.2]




